Q24. A straight conductor of a length 60cm is moving with a velocity of 2.5 m/s through a

uniform magnetic field 1.5 T vertically into the page. The induced € is:
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Q25 Based on the previous question 24, and if a resistance of 10 Q is connected in series. Then

the induced current will be:
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Q25- A bar of length 1 m moves on two horizontal frictionless rails as

shown in the figure. If R=16 Q and a 4 T magnetic field is directed

perpendicularly into the paper, the applied force required to move the bar —
to the right at a constant speed of 4 m/s equals to: Eap
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Q23 A bar of length 1 m moves on two horizontal frictionless rails as
shown in the figure. If R=6 Q and a 3 T magnetic field is directed Y : =
perpendicularly into the paper, the applied force required to move the bar R b
to the right at a constant speed of 10 m/s equals to: T
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Q24- A long solenoid (r = 1200 turns/m) has a current of a 30 4 in its winding. The magnitude of the
resulting magnetic field at the center point on the axis of the solenoid is:
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Q25- Induced current can be produced in a coil by

z net bar topards the Toil™ - ™" #B) applying a constant magnetic ﬁeld in the coil
lng € magnitude of the magnetic ux D) making the magnetic field equal zero
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Q26- Faraday’s law of induction relating the electromotive force &, magnetic flux @, and

time ¢ is:
A) &=-di/dd B)t=-d &/dD ﬁ d/dt D) @ =-d &7t
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Q27- If the magnetic field is 15 mT', what is the magnetic energy density? '

A)179.1 B) 89.5 C) 11.9 D) 5.96
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Q28- The inductance of a solenoid is proportional to the square of its:

A) length / B) area A C) current I @
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Q29- The induced electromotive force between a and b equals:
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Q28- if the current passing through the resistor due to the conductive bar movement equals
0.4 Amp, the bar speed, then, is:

A) 10 D)2.5




